

$$(+2) + (-3) + (+7) =$$

\ /

/

$$(-1) + (+7) = (+6)$$

$$(-3) + (+4) - (+5) =$$

$$\begin{array}{l} \diagdown \diagup \\ (+1) - (+5) = \underset{1}{(+1)} + \underset{5}{(-5)} = \overset{4}{(-4)} \end{array} \quad \begin{array}{l} (-3) + (+4) = (+1) \\ \end{array}$$

$$(-3) \oplus (+4) \oplus (-2) \oplus (+3) =$$

$$(-3) (+4) (-2) (+3) =$$

$$-3 + 4 - 2 + 3 =$$

\ /

$$1 - 2 + 3$$

\ /

$$-1 + 3 = 2$$

$$-2 + (3 + 4 - 6) - 2 - (7 - 2 + 3) =$$

$$-2 + (1) - 2 - (8) =$$

$+(-8)$

$$-2 + 1 - 2 - 8 =$$

$$\begin{array}{l} \setminus / \\ -1 - 2 - 8 = \end{array}$$

$$\begin{array}{l} \setminus / \\ -3 - 8 = \end{array} \textcircled{-11}$$

$$3 + 4 - 6 =$$

$$\begin{array}{l} \setminus / \\ 7 - 6 = 1 \end{array}$$

$$15 - [9 - (5 - 11 + 7) - 3] =$$

$$15 - [9 - (1) - 3] =$$

+(-1)

$$15 - [9 - 1 - 3] =$$

$$15 - [5] =$$

+[-5]

$$15 - 5 = \textcircled{10}$$